ESE5310 Spring 2024

University of Pennsylvania
Department of Electrical and System Engineering
Digital Signal Processing

Final Friday, May 10

4 Problems with point weightings shown. All 4 problems must be completed.

Calculators (non-cellphone) allowed.

Closed book = No text allowed.

Two two-sided 8.5x11 cheat sheet allowed.

All answers and work here.

Name: Answers

Grade:
Q1

Q2
Q3

Q4

Total | Mean: 66.1, Stdev: 14.4
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DTFT Equations:

Z-Transform Equations:

X () = 30 oo w[kle77"

zln] = 5= [T X(e)el dw

X() = oo el
z[n] = #jg@X(z)z”_ldz

TABLE 2.3 FOURIER TRANSFORM PAIRS
Sequence Fourier Transform TABLE2.2 FOURIER TRANSFORM THEOREMS
1. 8[n] 1 Sequence Fourier Transform
2. 8[n —no] e~Jjwno x[n] X (ed®)
00 .
3.1 (—0c < n < 00) Z 2n8(w + 2mwk) ylnl Y(el®)
k= - :
D: 1. ax[n] + by[n] aX (e/®) + bY (e/¥)
4 a'uln] (lal <1) 1 aeio 2. x[n —ng]l (ng an integer) e—Jona X (eiw)
o0 3, elwon X (el (w-wq)
S. uln] ;_w + Y mb(w+2mk) erotatn] (e ) )
T=e™® 4, x[—n) X (e=4)
*eajwy i
6. (n+1)a"uln] (la] <1) ﬁ X*(e/”) if x[n] real.
(e 5. nain) X @)
7. st < L : ' da
sinwp 1 —2rcoswpe'f’"+r2e'12‘” . ,
) 6. x[n]* y[n] X (e/*)Y (/™)
sinwen i 1, ol <o,
g, Sm@en X(EJ):[D . (™ o e
n e = 7. x[nlyln] o f X @)y /@ )dp
0, xin)— { 1, Osn<M sinlo(M + /2] o o
- XM= 100, otherwise sin(w/2) Parseval’s theorem:
&, - 2_ 17 jay 2
10, efoun 3 2nb(0 - wg+ 2k 8% =5 [ Xl
k=—c0 n=-00 i
= . e 1 ;
11. cos(won + @) Z [re/®8(w — wq + 2nk) + we 1P8(w + wq + 27Kk)] 9, Z x[n]y*[n] = — [ X (e!)Y*(e/?)dw
k=—00 n=-o00 2 Jm
TABLE3.1 SOME COMMON z-TRANSFORM PAIRS
Sequence Transform ROC
1. 8[n] 1 Allz
1
2. uln] 1-1 lz] > 1 TABLE3.2 SOME z-TRANSFORM PROPERTIES
3. —u[-n—1] 1 - 1zl <1 Property Section
1-z- Number Reference Sequence Transform ROC
_ -m . .
4. 8[n—m] H L All z except 0 (if m > 0) or oo (if m < 0) x[n] X(2) R,
5 atutn) T=art el > lal xn] X1@ Ry
6. —a"ul-n —1] 1;1 Izl < lal *2[n] X2() R,
‘:ZZ_ L 1 341  axin]+bx[n] aXi(z) +bX2(z)  Contains Ry N Ry,
7. na"uln] T—ar 12 Izl > lal 2 342 x[n —ngl 70X (z) R;, except for the possible
az-! addition or deletion of
8. —na"u[-n—1] = |z| < lal the origin or oo
1 — cos(wp)z ! 3 343 zgx[n] X(z/20) 20l Rz
9. cos(won)uln] T 2costmnz-1 122 lz] > 1 4 3kl dX(2) R
sin(wp)z ! o nx[n] z dz -
10. si —_— 1 * *
sin(won)uln] T 2costwn)e +2-2 lz| > 5 345 x*[n] X*(z%) R,
1 —rcos(wp)z ™! 1 ok :
. —_——— 6 Re S[X X Contains Ry
11. " cos(won)uln] T 2r cos(@oyz1 £ 722 lz| > r {x[n]} 2[ (@) + X7(2")]
. rsin(wp)z 1 N .
12. r"sin(won)uln] 1—2rcos(wo)z~1 +r2z2 lz| > r 7 Im{x[n]} Z_j[X(Z) — X*(z)] Contains R,
13 [a", 0<n<N-1, 1-aVz7¥ el >0 8 346 x¥[—n] X*(1/z) 1/Ry
10, otherwise 1—az 1 < 9 347  mnlsxinl XX Contains Ry, N Ry,
DFT Equations:
1

N-point DFT of {z[n],n

N-point IDFT of {X[k],k = 0,1,..., N — 1} is x[n] = +

0,1,..,N—1}is X[k] =

n=0
—1

N
k=0

x[n]e‘j%k”, for k =0,1,...

S X[k]ed ¥ forn =0,1,...
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Trigonometric Identities: Geometric Series:
e/ = cos(©) + jsin(O) POMITAE %
cos(©) = 5(e7® 4+ e779) Yo" =l < 1
sin(©) = 2%(6]‘@ —e719)

Upsampling/Downsampling:
Upsampling by L (1L): X, = X (e?*F)

Downsampling by M (IM): Xgouwn = 77

Generalized Linear Phase Systems:

=0

Type I Type 11
Symmetry | Even, h[n] = h[M —n] | Even, h[n] = h[M — n]
M Even Odd
H(e) A(eI@)emIwM/2 A(eIw)emIwM/2
M/2 (M+1)/2
A(el®) > alk]cos(wk) > blEk]cos(w(k — 1))
k=0 k=1
al0] = h[M /2] blk] = 2h[(M +1)/2 — K]
alk] = 2h[(M/2) — k] |for k=1,2,...(M +1)/2
for k=1,2,.... M/2
Type I11 Type IV
Symmetry | Odd, hln| = —h[M —n] | Odd, h[n] = —h[M — n]
M Even Odd
H (&%) A(e??)jeIwM/2 A(e??)je=iwM/2
M]2 (M+1)/2
A(e?) > clk]sin(wk) > d[k]sin(w(k — %))
k=1 k=1
c[k] = 2n[(M/2) — k] d[k] = 2h[(M +1)/2 — k]
for k=1,2,.,M/2 |fork=1,2,...(M+1)/2

Interchange Identities:

O e e i

EM—l X(ej(ﬁ—i—}’i))
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1. (18 points) Window-based filter design. We want to design a lowpass filter (LPF) with
a cutoff frequency of w. = 0.6, transition band, Aw, and peak stopband attenuation,

.
(a)

Write the impulse response, hjgeq[n], of the ideal LPF with a cutoff frequency of
w. = 0.6.

From table 2.3 we can write:
sin(0.6n)

hideal [n] = -

When using windows to design low-pass filters, there is a tradeoff between tran-
sition width and peak stopband attenuation. However for increasing filter length,
N, the transition band improves while the peak stopband attenuation does not
change much and can be fit as a constant value. The table below shows this best
fit characteristic for various window types.

Window 7/Aw | max(ds)
Rectangular | 0.4069N | —21dB
Hann 0.1470N | —44dB
Hamming | 0.1398N | —54dB
Gaussian | 0.0891N | —60dB
Blackman | 0.0704N | —75dB

Which windows can be used to design a window-based LPF with a transition
band of 0.157 and peak stopband attenuation less than -50dB?

Any window with the max(d;) < —50dB will work. So we can say Hamming,
Gaussian and Blackman.

Which window would you pick to optimize your filter design? Explain your rea-
soning.
Choosing a Hamming window will enable us to meet the transition band require-
ment with the shortest filter. So we choose a Hamming window of length N = 48
when rounding;:

7

1
—=—=0.1 -N N =47.
015 0.1398 — 7.69
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2. (24 points) Impulse invariance and the bilinear transformation are two methods for
designing discrete-time filters. Both methods transform a continuous-time system func-
tion H.(s) into a discrete-time system function H(z). Answer the following questions
by indicating which method(s) will yield the desired result. Show justification only
for partial credit. For your reference Impulse Invariance and Bilinear Transformation
equations are given below:

Impulse Invariance: Bilinear Transformation:
hln] = The(nT) Hz) = H (2 ()
H(e™) =% H.|j(%+%k)] w = 2arctan(QT/2)

(a) A minimum-phase continuous-time system has all its poles and zeros in the left-
half s-plane. If a minimum-phase continuous-time system is transformed into a
discrete-time system, which method(s) will result in a minimum-phase discrete-
time system?

Bilinear Transformation
Impulse Invariance maps left-half s-plane poles inside the unit circle in the z-
plane, however zeros won’t necessarily be mapped inside the unit circle. A counter
example can be found, for e.g. H.(s) = LO) with T=1.

(s+1)(s+2
.. 1+%80
The bilinear transform maps a pole or zero at s = sy the same to zy = —F
T
1 + %SO
|20] = (2)
T
1— ESO

Since H,(s) is minimum phase sy = ¢ + j2 and o < 0. Therefore |zo| < 1 and
all zeros and poles will be inside the unit circle, so the DT filter will be minimum
phase.

(b) If the continuous-time system is an all-pass system, its poles will be at locations s,
in the left-half s-plane, and its zeros will be at corresponding locations —s; in the
right-half s-plane. Which design method(s) will result in an all-pass discrete-time
system?

Bilinear Transformation
Impulse invariance can result in aliasing and destroy the all pass nature of the fil-
ter. However, bilinear transform only warps the frequency axis and the magnitude
is not affected.
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(¢) Which design method(s) will guarantee that

H(e")wmo = He(j)] a0

Bilinear Transformation
Again because of aliasing, impulse invariance does not guarantee this in the gen-
eral case, however bilinear transform maps €2 = 0 to w = 0 and there is no aliasing
so it does guarantee this.

(d) Suppose that H(z), Hy(z), and H(z) are transformed versions of H.i(s), Hea(s),
and H.(s), respectively. Which design method(s) will guarantee that H(z) =
Hi(z)Hy(z) whenever H.(s) = H.(s)He(s)?

Bilinear Transformation

Impulse invariance may result in aliasing. Since the order of aliasing and mul-
tiplication are not interchangeable, the desired identity does not hold. Consider
H,(s) = Hy(2) = e=7/2. By the bilinear transform:

H(z) = H(%Glz—i)) .
- (3 (155) e (3 (155))

= Hl(Z)HQ(Z)
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3. (24 pts) Below are the impulse responses of four FIR filters. For each filter determine
whether H(e’*) =0 for w = 0 and w = 7.

hqln] , h,[n]
1 0 1 2_11_11 5 0_11 2 3 l 5 6
2
hsln] ‘3 ’ han]
2 92 2
el e Ly
-2_11 0 1 2 3_11 2 -1 0 1_11 3_11 5 6 7 8

Fill in each box with "yes” or "no”.

Filter | H(e’)|u—0 = 0?7 | H(e’*)|u=r = 0?7 | GLP Type | M Aw)

hy[n] yes yes v 3 25in(0.5w) + 2sin(1.5w)

ho[n] yes yes 111 4 4sin(w) — 2sin(2w)

hs[n] no yes 11 5 | 4cos(0.5w) + 2cos(1.5w) — 2cos(2.5w)
hy[n] no no | 8 | 2—2cos(w) + 6cos(2w) + 2cos(4w)

These are all GLP filters with a time shift. The time shift does not affect the magni-

tude, so we can just identify the type and order M of the filter and write A(w) from
the table given.
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4. (34 pts) Spectral analysis via the DFT.

: N _ o (20) _
Consider the 32-point signal z[n] = cos <3—2n> ,n=0,..,31
(a) Determine an exact expression for the 32-point discrete Fourier transform (DFT)
X|[k],k =0,...,31 of this signal.

(b) Determine the approximate values of k& where you would find the peaks in the
DFT.

(c) Are there any spectral leakage effects in this case? Why or why not?

(a) The signal is a windowed cosine function so X[k| is the DTFT of the product
of the rectangular window and cosine sampled at w = %ﬂk? where N = 32:

2
X[k] = DTFT{wln] x z[n]},w = Nﬂk k=0,..,31

X(e#) = 7 [5 (w - 27;(23)> " <w+ 27;(23))} Jwl <7

W(e) = p—iw(32-1)/2 sin(32w/2)

sin(w/2)
DTFT{wfn] x afnl} = 5= X(c) « W(e)
el e 5| <
X[k = % :W (é—gk - 27;(23)> W (é—gk + 27;(23))]
_ % :W (é—g(z{ _ 3)) W (é—g(l@ + 3))}

The first term is only non-zero for £ = 3, and the second for k = —3 + 32 = 29:

X[H = % (3261k — 3] + 326[k — 29]) = 166[k — 3] -+ 166[k — 29]

(b) It follows the peaks are at k =3 and k = 29
(c) There is no spectral leakage because the frequency of the cosine belongs to
the set of frequencies sampled by the DFT.
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Now consider the 32-point signal x[n] = cos (22—517)71) ,n=0,..,31.
(d) Determine an exact expression for the 32-point discrete Fourier transform (DFT)
X|[k],k = 0,...,31 of this signal. You can use the function for a periodic sinc in

your expression, psincy(w) = % Be sure to specify the value for N.

(e) Determine the approximate values of k& where you would find the peaks in the
DFT.

(f) Are there any spectral leakage effects in this case? Why or why not?

(a) The signal is a windowed cosine function so X|[k] is the DTFT of the product of
the rectangular window and cosine sampled at w = %’k, where N = 32:

2
X[k] = DTFT{wln] x z[n]},w = ka k=0,..31

W(ejw> _ efjw(3271)/25in<32w/2) _—jw31/2

sinlofz) | psinealw)
DTFT{w[n] x z[n]} = %X(eﬂ‘”) * W (™)
_ % :W(w—QZ—f)> +W<w+27é—(47)>} Jwl <7
X[k = % :W @—gk — 27;(47)) W (z—gk + 2217))}
() o (e D)
= Lo {psmm (2—2@ - ;) + psiness (2—2(% + ;)}

(b) It follows the peaks are at k =7/2=3.5and k = —7/2+ 32 =285

(c) There is now spectral leakage because the frequency of the cosine does not belong
to the set of frequencies sampled by the DFT. This can be noted because we see that
the peak frequencies occur at non-integer k values.



